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Graphing Linear Equations in Slope-Intercept Form (/
3.5

The slope m of a nonvertical line passing through two points (x;, y;) and (x5, y,) is the ratio of the rise (change in y -
denoted as Ay) to the run (change in x — denoted as (Ax)
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When the line rises from left to right, the slope is positive. u o o S

When the line falls from left to right, the slope is negative. p & Rignt are pbsrive Moves
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Example 1: Describe the slope of each line. Then find the slope.
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Example 2: Finding slope from a table
a. b. G,
X )3 x y X ¥y
’_{\i = —l-p 3| = 2 =3 =
o RS M AR I D s Bl B
v3 0 s |77V 2ds|a2l L R P
4% < 13 2 7 ’(J ){1 < 5 2 7Y0 ‘YU'/" =3 9 ?+%

Choose ony 2 Pois Au 0
) 3=~ | —A%—E_:O L L T
H?. ﬂ| ) 420 _ =9 =3 s S

X,-%r 3 -4 3 Slope 150

Slope 15 -2 t%)

Slope 1y undefined



Slope-intercept Form of a Linear Equation

Words: A linear equation in the form y = mx + b is in slope-intercept form.
The slope of the line is m and the y-intercept of the line is b.
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A linear equation written in the form y = 0x + b, or y = b, is a constant function. The graph of a constant function is a

horizontal line. m,h (2 M=0
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Example 3: Find the slope and y-intercept of the graph of each linear equation. 80\\5 2 S %
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Example 4. Graph 2x + y = 2. Identify the x-interercept. 7 ) vawe 150 R4
y=-2X+2 2K+ (0)=72
=L
-y oown 2 =5 " \(
m X = |
N G | %
b=2 KW € 1,0) !
' Also can e found N

N WWw C\'\&pm

Example 5: A submersible that is exploring the ocean floor begins to ascend to the surface. The elevation k (in feet) of the

submersible is modeled by the function A(t) = 650t — 13,000, where t is the time (in

minutes) since the submersible
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a. Graph the function and identify its domain and range. zl?.:g O )

b. Interpret the slope and the intercepts of the graph. . et YRR
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| Homework: pg 129: 5-8, 10-22 even, 25-33 odd, 38, 45 Oh ¥ Q_,\\




